











Section B — Long Maths

You have 25 minutes to complete this section.
There are 30 questions in this section.

The price of board games in a shop is shown in the table.
1. Jack gives the shopkeeper £30.00 and gets 50p change. Which games could he have bought?

Blocks Trivia Time Clueless Scramble Brainium
£12.50 £10.50 £6.50 £11.50 £9.50

A Scramble, Blocks and Trivia Time D Scramble, Blocks and Clueless

B Clueless, Brainium and Trivia Time E Scramble, Clueless and Trivia Time

C Blocks, Clueless and Trivia Time

2. Jill buys 2 copies of Brainium and 3 copies of Trivia Time. ‘ “ \ ‘ “ \
She pays with 3 £20 notes. How much change will Jill receive? £

3. Lucy has some paper circles and some paper squares which %
she uses to make a rocket. The squares have sides of 4 cm

and the circles have areas of 10 cm?. She cuts some of the
shapes in half. What is the area of her rocket? D@ cm?

£

Moses is tiling his rectangular bathroom floor.
4.  Each tile is 0.04 m? and he uses 100 whole tiles to cover the entire floor. ODD

If the width of his bathroom is 1 m, what is the length of his bathroom? m
5. Moses plans on using 2 different types of tiles on his bathroom floor.

55% of the tiles will be white and 45% will be black. ‘ “ H “ \
Write the ratio of white to black tiles in its simplest form. :

6. What is the total area of the bathroom floor that “ \ \ ,
will be covered with black tiles? t t m

7. Fiona arranges 6 equilateral triangles to make the DDBO / ;; \

shape shown. What is the size of the shaded angle?

Lisa, Amy and Louise all collect handbags.

8. Lisa has H handbags, Amy has H + 2 handbags and Louise has
2H handbags. Altogether, Lisa, Amy and Louise have 26 handbags. DD
How many handbags does Louise have?

9. Georgina has three times as many handbags as Amy. Which expression
correctly expresses the number of handbags Georgina has?

A 3H+2 B 3H C 3H+6 D 3H+3 E 3(H+6)

Carry on to the next question —» —
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10. Shakil has £2.73. He has the same number of 2p and 1p coins, and DDD
these are the only coins that he has. How many 1p coins does he have?

11. 40 girls and boys played in a football tournament. Girls | Boys | Total

The number of goals scored and saves made during

. Goals 4
the tournament were recorded in the table.
How many saves were made in total? DD Saves| 14
Total | 24 44

Bill is filling a large packing box with small match boxes. The packing box measures
50 cm X 50 cm X 20 cm. The matchboxes measure 5 cm X 2 cm X 1 cm.
12. How many matchboxes can he

fit in the packing box!?
13. Each match box contains 25 matches in total.

How many matches are in the packing box if

it has been completely filled with match boxes? J
14. Rajis buying 2 family tickets for a concert. iznlctert Tg(estg

7 u s -
How much does he spend? . ( u J ( “ J Children  £1.50
20% discount for family ticket
(2 adults and 2 children)

Sherrie is hosting a party for 24 children and 7 adults.
15. Sherrie buys 3 sausage rolls for each child and 5 sausage rolls for

each adult. If the sausage rolls come in packets of 25, how many DD

packets will Sherrie need to buy?
16. Sherrie wants to make some cakes for the party. She needs enough for

each adult to have /4 of a cake and each child to have /4 of a cake. DD

How many cakes will she need to bake?
17. A plant grows 0.025 m every 6 months. Itis 1.5 m tall. DD

How many years will it take to reach 2 m? years
Harry wants to paint the side of his house. 4m
18. Harry draws the side elevation. The total DD 1 mI

perimeter is 32 metres. What is the length of X? m ,

m

6m
19. What is the area of the side of his house? DD m?2

X
20. Harry uses 3 litres of red paint, 4 litres of blue paint and 5 litres of white
paint to paint the side of his house. What percentage of the paint was red? DD %

Carry on to the next question — —
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21. This flag is reflected in the y-axis. 5
What will be the new coordinates of point P? 4 p
A (-3,3) B (-2,3) € (3,29 D (3-3 E (1,-2 2 jy
5453210 45"
22. Graham creates a sequence with the nth term 3n® + 1. )
What are the first two terms in his sequence? -3
A 1,3 B 413 € 713 D 1037 E 47 .
23. Imani has 3 cubes of cheese with sides of 2 cm. A mouse eats DDD
12 cm? of the cheese. What volume of cheese does Imani have left? cm?
Brian is making a pen for his sheep in the shape of a regular pentagon. %A—y) m

24. Each length of fence is (2x — y) m long.
What is the perimeter of the pen in terms of x and »?

A 8x—4y B (2x—y)+5 C 5x-5y D 10x -5y E 2x+5y

25. What is the perimeter of the penif x =10and y = 2? DDD m

26. The area of the penis 555 m2. 50 m? is needed for every 3 sheep. DD
How many sheep can Brian fit in this pen?

27. The diagram shows three of the angles on a kite. DDDO
What is the size of angle a?

28. Carrie buys 4 chocolate bars at 49p each, and 7 bags of peanuts
at 29p each. How much does she spend in total?

A £1.96 B £2.03 C £3.99 D £4.90 E £4.10

A barrel contains 2 litres of water. There are 5 holes in the bottom of the
barrel, and each hole loses 50 ml of water each hour.

29. How many hours will it take for the barrel to completely empty? DDD hours

30. Johnny manages to stopper one of the holes in the bottom of the
barrel so no water is lost from it. How much longer will it

take for the barrel to completely empty from full? DDD
minutes
/30
(Total | 760)

End of Test
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